GBESISCHENE

USN 15SMAT21
Second Semester B.E. Degree Examlya on, June/July 2019
Engineering Mathe @tlcs -1
Time: 3 hrs.

Max. Marks: 80

Note: Answer any FIVE full questions, c
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1 a. Solve (D’ -4D+4)y=¢> +cos ;3-@4 by inverse dlfferegt @perator method. (06 Marks)
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é b. Solve g—%l—— jy Sy 2"‘%&; § by inverse dlfferentlal g,perator method. (05 Marks)
g X X "o i
8 c. Using the method of g etgrmmed coefficients, sp vy -3y’ +2y =x’ +e*. (05 Marks)
FEg OR,
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2 a. Solve % —é%w Fy =xe"sinx by mveg%c;@ifferentlal operator method. (06 Marks)

X
b. Solve (D Qgh? +11D - 6)y =e™> Rl Px by inverse differential operator method. (05 Marks)

é
7 2y +y=— by metgo@ﬁof (05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

(06 Marks)
(05 Marks)
(05 Marks)

5 a. Form the 5 rtial differential e%ua‘flon by ellmmatmg the arbitrary function from the relation
Z =y f(x) + x g(y). (06 Marks)

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

S

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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b. Solve = =-2siny when x = 0 and z = 0 when y is an odd
multiple of ©/2. (05 Marks)
Derive one dii{ia@’ i %nal wave equation _62_u =c’ i (05 Marks)
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Form. a partlal differential by eliminating the arbitrary
<|>(x2~+y 72,22 =2xy)=0. :

2 £

z . £
~+4z=0, given that when x =0, g andm

nction ¢ from the relation
' (06 Marks)

Solve d (05 Marks)
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O » by the method of separation of

variables for the constant K is positive (05 Marks)
2.4
Evaluate j I (xy +e”)dydx . (06 Marks)
4a 2f_ %{{ {
Evaluate j Idydx by changin he order of 1ntegrat10n w (05 Marks)
0 x*/4a 4 e
Obtain the relation betw@g the beta and gamma f 1 ion in the form
(05 Marks)
(06 Marks)
(05 Marks)
Using beta and gamma ﬁunétlon prove that J (05 Marks)
(06 Marks)

.

re flt+2n)= f( ; then prove that L[f(t)]— tan h[ 2 }
d (05 Marks)

(05 Marks)

1<t/§»2 ¢ in term of unit step function and hence find its Laplace

(06 Marks)
(05 Marks)
(zl‘aée transform to solve the differential equation y"(t)+4y'(t)+4y(t)=e™
with the initiél condition y(0) = 0 and y'(0) = 0. (05 Marks)
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